
504-31-32 Softail 00-11 Fat Cat 
504-31F Softail, Fat Cat 00-11 2-1, Black, Louvered Baffle  

504-31FBQ Softail, Fat Cat 00-11 2-1, Black, Big Boar Wrapped Baffle 

    

    

504-32F Softail, Fat Cat 00-11 2-1, Chrome, Louvered Baffle 

504-32FBQ Softail, Fat Cat 00-11 2-1, Chrome, Big Boar Wrapped Baffle 

    

    

 
 

Mounting Muffler 

2 – 3/8 x 16 x 1 Hex Head Bolts 

 

2 – 3/8 Flat Washers 

 

2 – 3/8 Lock Washers 

 

2 – 3/8 Flange Nuts 

 

 

1 – 3/8 x 1 ½  Allen Bolts For Fatboy Rear 

Peg Relocate 

1 – Black Plug for Open Hole on Frame 

 

 

Mounting to Frame 

2 – 3/8 x 16 x 1 ¼ Hex Head Bolts 

 

 

4 – 3/8 Flat Washers 

 

1 – Bracket  



 

 

 

 

 



 

 

 

 

 



 

 

 

 

 



 

 

 



 


